
Harmony Railing™ Product Guide	 8	 www.harmonyrailing.com

HARMONY ADA HANDRAIL KITS
ADA Pipe Rail and  
90° Return Kit
Kit includes:
1 –	 94" Pipe
2 –	 90° Returns
2 –	 90° Return Covers
2 –	 3" Post Backer Plates
2 –	 Joiner Rings
6 –	 #10 x 1½" Tek Screws
4 –	 #8 x ¾" Color Matched 

Tek Screws
Installation Instructions

P/N: AD901102  
B=Black, W=White, Z=Bronze

ADA Pipe Rail Extension Kit
Kit includes:
1 –	 94" Pipe
2 –	 6" Joiners
2 –	 Joiner Rings
2 –	 Rail Support Brackets  

with adapters 
2 –	 3" Post Backer Plates
2 –	 Support Bracket Caps
2 –	 #14 x 1½" Tek Screws
8 –	 #8 x ¾" Color Matched Tek 

Screws
Installation Instructions

P/N: AD901103  
B=Black, W=White, Z=Bronze

ADA Handicap Loop Kit
Kit includes:
2 –	 Handicap Loops
2 –	 Rail Support Brackets with 

adapters 
2 –	 Adjustable Elbows
2 –	 3" Post Backer Plates
12 –	 #8 x ¾" Tek Screws
2 –	 #14 x 1½" Tek Screws
Installation Instructions

P/N: AD901104  
B=Black, W=White, Z=Bronze

ADA 90° Return Kit
Required when ADA Pipe 
Rail is cut into two pieces 
and installed. Does not 
include 94" pipe rail. 
 
Kit includes:
2 - 90° Returns
2 - 90° Return Covers
2 - 3" Post Backer Plates
2 - Joiner Rings
6 - #10 x 1.5" Tek Screws
4 - #8 x ¾" Color Matched 

Tek Screws
Installation Instructions

P/N: AD901101
B=Black, W=White, Z=Bronze

FIND INSTRUCTIONS AND INSTALL VIDEOS  
AT HARMONYRAILING.COM.

ADA HANDRAILS CAN 
BE USED FOR STAIRS, 

RAMPS AND HORIZONTAL 
APPLICATIONS. 

ADA Hand Railing
1.5" x 94" 
P/N AD903194

90° Wall Return
P/N AD905118

ADA Support Bracket 
Use on 2" and 3" Posts. 
P/N AD908102

Inside Corner Mount
P/N AD908599

Internal Pipe Joiner
P/N AD905178

ADA Handrail Return
P/N AD905168

Straight End Wall 
Mount
P/N AD905128

ADA 90° Elbow
P/N AD905158

ADA 5° Elbow  P/N 
AD905105
ADA 30° Elbow P/N 
AD905130
ADA 34° Elbow P/N 
AD905134
ADA 38° Elbow P/N 
AD905138
Order 4X #8x¾" screws for 
each elbow (sold separately).

ADA Adjustable 
Elbow
P/N AD958204
Order 4X #8x¾" screws for 
each elbow (sold separately).

ADA 1.5" Joint Ring
P/N AD905188

ADA End Cap
Available in black only. 
P/N AD905198

3" Post Backer Plate
P/N AD905248

Rail to Bracket 
Attachment
#8 x ¾" Tek Screw. 20-
pack. P/N ST091820
B=Black, W=White, Z=Bronze

Bracket to Metal Post 
Attachment
#10 x 1½" Tek Screw. 
20-pack. P/N ST091020

Support Bracket 
Attachment
#14 x 1½" Tek Screw. 
20-pack. P/N ST099520


